[ I=(y=cos(0)) 2=(y=6sin(0))
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TrigonometryExercise for No.9594

Nol = (tan(A) = %j, No2 = (sec(A) = gj, No3 = (cos(A) = %j, No4 = (cot(A) = %J

3=(y=cos(60)) |

Nos = 4=(y=4cos(30)) .5=(y=—§sin(49) 6= y=—4sin(gj—3j
o 1 MA
_.7:(y=—4cos(TD .8=(y=—zcos(3n9)+5] E
| 5 (1] MA
e y=—cos(x)+3 y=3sin(2nx)—4 y=7 008 5 TH
5. 3 . («x MA MA
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TrigonometryExercise for No.9608

8 4 . 2 3
Nol = (cos(A) = 5), No2 = (cot(A) = gj, No3 = (sm(A) = ;J, No4 = (sec(A) = ;J

d=(y=cos(0)) 2=(y=-2sin(0)) 3=(y=sin(20))
Nos = 4=(y=6c0s(20)) .5:(y:5005(%j] .6:(y:—isin(36)—2j
1 . no MA
_.7=(y:—zsm(6n9)] .8:(y:—6cos(7]+5] E |
' sl 5)e eselS) 5
g y=-2sin(2nx) y=2sm 3 +2  y=3sin 3 TH
S X M4 MA
y=cos(x)—3 y:—zcos( J—2 - TH
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TrigonometryExercise for No.9646

Nol = (cos(A) = gj, No?2 = (csc(A) = gj, No3 = (tan(A) = i], No4 = (cot(4)=x)

A =(y=sin(0)) 2=(y=4cos(0)) 3=(y=cos(40))
Nos = 4=(y=-2sin(40)) .5=(y:isin(69)j .6=(y=—6cos(%)+3)

1.(n8 MA
_.7:(y:—SCos(6n9)) .8:( :—6sm( 5 j+3] TH

3 s2mrred e s oZ)-a 2

s y= 2cos( TX)+ y—251n( TX) y—zcos 3 TH

by ) MA MA

y=-3 cos(;] y=-sin(x)—-3 E E
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TrigonometryExercise for No.9649

Nol = (tan(A) = g], No2 = (cot(A) = %), No3 = (sin(A) =3 j, No4 = (csc(A) = %]

1 =(y=sin(0))

2=(y=4cos(0))

4=(y=—6sin(20)) .5:()/:—%005(4 0)

3=(y=sin(20))

s

No5 =
=fresel ) abeqeoenos)
I y cos p y 5 cos(2m0O) TH |
5 ( x] 4 ] MA
= — e, _;’_ — [
s y cos y 5 cos 5 y =sin(x) TH
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TrigonometryExercise for No.9669

Nol = (sm(A)—4j No2 = (csc(A)—gj No3 = (tan(A)— J Nod4 = (cot(A):él

A =(y=sin(0)) 2=(y=4cos(0)) 3=(y=cos(20))
No = A4=(y=-2cos(40)) J= (y 3sm[ D .6:(y:—§sin(36)+2j

1 . MA

.7=(y:—gsm(5n9)] 8= (y——6cos( ]+4] E
o2 ma)_a oyl (_j _ (1J , M4

g y=-3cos(2mx)— y—2co 5 y——2cos 5 + TH

L X (_j MA MA
y=-sin(x) — y sin TH TH
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TrigonometryExercise for No.9717

Nol = (cos(A) = %), No2 = (cot(A) = %j, No3 =(sin(4)=x), No4 = (sec(A) = %j

[ I=(y=cos(0)) 2=(y=-4sin(0)) 3=(y=sin(60)) |
0 1
Nos = 4=(y=2cos(50)) .5:(y:—2sin(zn .6:(yzzsin(56)+2j
7—(—1 (ﬂD 8=(y=-3sin(410)+4 Ma
7= ——4cos p S=(y=-3sin(4n0)+4) e
LI | 3 H , M
s y—2COS( TX) y =sin(x) y=scos 3 J+3 o
S inamnr2 ve 5 wm
y——2s1n( TX)— y=-2cos 3 v e
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TrigonometryExercise for No.9763

4 6 ¥ .
Nol = (tan(A) = gj, No2 = (sec(A) = g], No3 = (COS(A) = gj, No4 = (csc(A) = Ej
[ .I=(y=cos(0)) 2=(y=4sin(0)) 3=(y=cos(40))
Nos = 4=(y=-3cos(20)) .5=(y=—%sin(5 e)j ,6:(y:_gcos(gj+lj
L n 0 MA
.7=(y:—zsm(6n9)j .8:(y:—4cos(T]+2j E

3 TX ) MA
y=—cos(x)+2 y=5cosT -3 y=-2sin(2mx) E

x] 1 (xj MA MA
- y=—_cos| T~ |—4 — —
2 2 3 TH TH
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TrigonometryExercise for No.9877

5 2
Nol = (tan(A) _ §j’ No2 = (cot(A) _ Ej’ No3 = (cos(A) _ %] Nod = (sec(A) _ ?]
[ . I=(y=sin(0)) 2=(y=-3cos(0)) 3=(y=sin(50)) |
1 . 0
Nos = 4=(y=-2cos(50)) .5=(y=—6s1n(56)j .6—(}/—5005[3J+4J
sl ) spdusnos)
7= y=-6 cos 5 8= y——Ssm( no)- TH |
in(o) 43 _ 1 (1] o r ey A
g y=sin(x) + y——2 sin 5 y=2cos(2mx) TH
0= (x] 1 ,(nxj MA MA
y=-2cos| T |+4 y=—_sin|—_|-2 — —
2 2 3 TH TH
. | \
y
\_\Q / \\ o

—

LT

]
B B

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKKXKKKXXXXKKKXKKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXKME/1-6600302-00009XX
TrigonometryExercise for No.9911

5 9 7 X
Nol = (COS(A) = ;], No2 = (csc(A) = gj, No3 = (tan(A) = ;j, No4 = (sec(A) = Zj

A=(y=cos(0)) 2=(y=-5sin(0)) J3=(y=cos(30))

Nos = 4=(y=-5c0s(60)) .5:(y:§cos(36)) .6=(y=—6sin(%)—1j
1 no MA

_.7:(y:—gcos(2n9)] .8:(y:—2 cos(?]—4] E |
oZ) -Lalz) 1yf22)
g y=-3sin 5 y=2sm 5 -4 y=—251n 3 TH
nx MA MA
y=-—cos(x)—2 y:3cos( 3 ]+3 TH TH
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TrigonometryExercise for No.10027

4 8 . 5 x
Nol = (tan(A) = 5], No2 = (cot(A) = ;), No3 = (sm(A) = ;j, No4 = (sec(A) = 7]

A =(y=sin(0)) 2=(y=-5co0s(0)) 3=(y=sin(30))
Nos — 4=(y=-5sin(20)) .5:(y=3cos(%jj .6=(y=isin(56)+2j
1 . T 0o MA

_.7:(y:—gsm(4n6)j .8:()/:—3 cos(?j+5j E |
z.(zj N 3 L, M4
g y= 2sm 5 y= 2cos( xX) y= 2cos( TX)+ TH
1.(nx M4 MA
y=cos(x)—3 y:2s1n( 3 j TH TH
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TrigonometryExercise for No.10063

st =z = s =3 s« st < | o = -
Nol = sm(A):6 , No2 = sec(A):2 ,No3 = ‘[an(A):5 , No4 = csc(A):4
[ . I=(y=sin(0)) 2=(y=-3cos(0)) 3=(y=sin(50)) |
Nos = 4=(y=2cos(40)) .5=(y=—§sin(36)j ’6:()}:5005(%J+2J
1 (mO MA
.7:(y=—gcos(3n6)j .8:(y:—251n(7j—3j E
3. (1J 1 (ﬁ] 5 (ij MA
s y=251n 5 y=zcos 3 y=—2cos 3 + 4 TH
. 5 (_j MA MA
y=—cos(x)-3 y= 5 sin 3 +2 5 e
o ’/d__—‘—\
E 1 N
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TrigonometryExercise for No.10120

4 5 X 7
Nol = (sin(A) = ;j, No2 = (csc(A) = gj, No3 = (cos(A) = g], No4 = (sec(A) = —]
X
[ 1=(y=sin(0)) 2=(y=—4cos(0)) 3=(y=sin(30)) |
1 0
NoS = 4=(y=-5c0s(20)) .5:(y:—§sin(4 6)) .6=(y:3sin(zj—4)
7 ( L (n’_@jj 8 2sin(4n0)-3 A
== 6sm 5 S=(y=-2sin(410)-3) TH |
3 cos( 2 _ 5 1 (Tcxj , MA
g y cos(2mx) y=sin(x) y 5 sin 3 TH
A (_] N D MA MA
y=2cos ) y—2SII1( X) TH e
7
6
S TN A T
_,><g . /;7&5_~,,/ T
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TrigonometryExercise for No.10367
5 7 5
Nol = tan(A)zg , No2 = csc(A):g ,No3 =|cos(4)=—"1|, No4 =
X

d=(y=cos(0))
A4=(y=-2sin(30))

) e

3
y=-sin(x)+2 y= _E cos(

Nob =

2=(y=-3sin(0))
J= (y =2 sin(gn

1
——Zsin(6 0)+ lj
M4

sin(3 6)+2]

-+ »=gal
3 - y——2SHl 3

3
yzgsin(2 TX) yzgcos(2x)

X
cot(4) = g]

J3=(y=cos(30))
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TrigonometryExercise for No.10372

Nol = (sin(A) = gj, No2 = (cot(A) = %), No3 = (cos(A) = %J, No4 = (CSC(A) = %J

1 =(y=sin(0)) 2=(y=2cos(0)) 3=(y=sin(20))
! 0
Nos = 4=(y=-2sin(50)) .5:(y:55in(36)J .6:(y:—6cos(g)—4)
S P .1 | R i
== 4sm 3 8=(y=-3cos(5n10)-3) - _
5 (xj 5 Lo ) (nxj , M4
= — | — - _ =4
Nob— y=7sm y 2cos( nx) y=2sin 3 T
. é (f&j 1 444_ MA
=508 y=—cos(x)+ - Ty
7
6
™ 5 B
y
~ L. ‘\_\
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TrigonometryExercise for No.10375

) 5 5 X X
Nol = (sm(A) = gj, No2 = (cot(A) = gj, No3 = (cos(A) = Zj’ No4 = (sec(A) = Ej

A =(y=cos(0)) 2=(y=-4sin(0)) J3=(y=sin(30))

No$ = 4=(y=—4cos(30)) .5=(y=—%sin(36)j .6:(y:—2sin(%)—4j
1 (=0 MA

_.7:(y:—6cos(2n9)) .8=(y:—4cos( 3 j—lj TH |
2(ﬂj3 2 cos(2 2'(1J4M—A
g y=2cos 5 +3 y= 2cos( x) y=2sin 3 TH
. nx MA MA
y=-sin(x)+3 y:2cos( 5 ] TH TH
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(5]

w

-
N
o+
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TrigonometryExercise for No.10426

4 3 7 2
Nol = (cos(A) = gj, No2 = (sec(A) = 5], No3 = (sin(A) = ;j, No4 = (cot(A) = ;J

A =(y=sin(0)) 2=(y=5co0s(0)) J=(y=sin(30)) ]
Nos = 4=(y=-3sin(40)) .5=(y=—3cos(%)j .6=(y=écos(36)+3j
o 1 . MA
_.7:(y:—6cos(TD .8:(y:—gsm(2n9)+lJ E
1 L 2 2 2 2 A
s y =—cos(x) y—2cos( X) y—2s1n( TX) TH
5 (X MA MA
y:—gcos(Zx)—3 y:—2s1n(7] E E

W N
—
o N
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T
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TrigonometryExercise for No.10628

3 9 3 X
Nol = (COS(A) = gj, No2 = (csc(A) = Ej’ No3 = (tan(A) = ;J, No4 = (cot(A) = —]

6
A =(y=sin(0)) 2=(y=—-4cos(0)) J3=(y=sin(60))
NoS — 4=(y=-5c0s(60)) .5:(y:—%cos(49)) .6=(y=—2005(§]+5)
1 (n6 MA
_.7:(y:—§sm(TD 8=(y=-3cos(6mB)—-1) E
L f) o2)o 2
s y=—cos(x)—2 y=251n 3 -4 y=-2sin 3 -2 TH
T X X MA MA
y:3sin(—j y:3cos(—j — —
3 3 TH TH
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TrigonometryExercise for No.11408

st =3 2= < s == o= s =3
Nol =|cos(A)==1,No2=|csc(A)==|, No3 =|tan(4) = No4 sec(A):;

A =(y=sin(0)) 2=(y=4cos(0)) J=(y=sin(20))
Nos = 4=(y=06sin(40)) (y 5511’1( D 6:(y=icos(59)—2J

1 . MA
.7:(y:—zsm(6n6)j 8= (y——Scos( j+5j E

=3 sin(2 2 2 MA

g y=3sin(2x) y=-sin(x) + y——zcos( TX) TH

0= 5 TX (x MA MA

y:—Ecos(T]—Z y:2s1n(;j+4 E E
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TrigonometryExercise for No.11560

Nol = (COS(A) = %), No2 = (sec(A) = %), No3 = (sin(A) = %], No4 = (CSC(A) = ;]

2=(y=6sin(0)) 3=(y=cos(60))

[ I=(y=cos(0))
. 0 1.
Nos = 4=(y=2sin(60)) .5=(y:—2cos(;n .6:(y=—5s1n(3 6)+2)

1. (0 MA

_.7:(y:—2005(5n6)) .8:( =73 sm( 1 j+5j TH
~ 2 2 2 3 si (E] 4 MA

g y= 2cos( TX) y= 2s1n( x) y=3sin 5 TH
3 X . MA MA
yzgcos(gj—Z y=sin(x)—3 E E
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TrigonometryExercise for No.11806

3 5 5
Nol = (sin(A) = ;j, No2 = (sec(A) = gj, No3 = (cos(A) = ?], No4 = (csc(A) = —]
X
! 0
Nos=| #=(y=3sn(26) '5:(y:_gsin(3 e)j .6=(y=—4 coS(gL 1]
7= =-2sin(61HO 8__( _ l (ILQJ 4] _&éi
- =(y=-2sin(6m0O)) 8= y==gcos| T+ - |
Los2n) 4 y=Soof 2 ooz Zofa 2L
g y—zcos( x)— y=—jeos| 7| y=-2sin 44
R P
y=-sin(x) + y =2 sin| 3 p— -
® ™~
y

/N
w
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N
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TrigonometryExercise for No.12219

4 6 , 4 3
Nol = (tan(A) = ;], No2 = (cot(A) = ;), No3 = (sm(A) = ;j, No4 = (csc(A) = ;]
[ . 1=(y=sin(0)) 2=(y=5co0s(0)) 3=(y=cos(20)) |

0 1
No = 4=(y=-6sin(50)) .5:(y=—6cos(gjj .6:(y:—§sin(56)+1j
7_(_5.(n_en 8_(_1 ‘o 2) MA
7= y=-5sin 5 S=|y= 5cos( no)+ TH
5 (Ttx] 3 <in( ) MA
s y——zcos —2 y=-3sin(2x) y=cos(x)— _TH
o= 5 (x , MA MA
y=—7"sin| ~|-2 y=3sin(2mx)+2 — —
2 2 TH TH
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—
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tryExercise for No.12954

Nol = (tan(A) = %), No2 = (cot(A) = %j, No3 = (cos(A) = i], No4 = (sec(A) = %]

A =(y=sin(0)) 2=(y=—-4cos(0)) J3=(y=sin(20))
1 0
Nos = 4=(y=—4sin(20)) .5:(y=—gcos(26)J .6:(y=4cos(§j+3j
7 6sin(2 O 8 ( 1 (n@j l] A
I (y sin(2m0)) 4cos 5 TH |
g y=cos(x)+ y—2cos( TX)— y—2s1n 5 )~ TH
00= 1 _(nxj (xj MA MA
y=-—_sin| —_— y=-3cos| — —
2 3 3 TH TH
¥
6
e e
. Py —
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TrigonometryExercise for No.12964

R R C R G RO G
Nol =|sin(4)=—=|, No2=|cot(4A)==1, No3=|cos(4) = No4 csc(A):g

A =(y=sin(0)) 2=(y=3cos(0)) J3=(y=sin(60))
0 1
No$ = 4=(y=6c¢co0s(390)) JS= (y 3cos(6D .6:(y=gsin(69)+5)
amswreon a-uli )
- =(y=-5sin(2mw0)) . sin TH |
é.(z] S 7 |
g y—2sm 5 y= —2cos( x)— y=sin(x) — TH
. Q.(Mj £ /7 B 7/ |
y——2s1n 3 y——2cos( TX)— TH TH
¥
6
y
TS
™~ P P Pif2 Pi Ki! 2 oPif2 3Pi 7Pif2
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TrigonometryExercise for No.12971

Nol = (COS(A) = 3] No2 = (sec(A)— Sj No3 = (tan(A) = j No4 = (csc(A) :ij

A =(y=sin(0)) 2=(y=-3cos(0)) J3=(y=sin(40))

NoS = 4=(y=-5c0s(60)) = ( —ésm(46)j .6:(y:3sin(%j+lj
1 MA

_.7:(y:—3sm(4n6)) . ( 5cos( ]—5] TH |
sl 57) regel3] vesmos
g y=-2sin 5 y= 2cos 3 y=sin(x) + TH
1 X X MA MA
y:—cos(—J—3 y:2cos(—j+3 p— p—
2 2 2 TH TH

T TS -

w

N

4 //
|
_'__'__,__.—-F-"'--'-_—-——-—'—_'___ _‘—.—h-—_—‘—’"‘—\—
T P— P 0 P2 —Pi— | 3Pi”2 2P 5Ri2 3Pi TRi/2 4P
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TrigonometryExercise for No.13023

Nol = (tan(A) = %j, No2 = (sec(A) = Z], No3 = (sin(A) = %j, No4 = (csc(A) = %)

d=(y=cos(0)) 2=(y=-2sin(0)) J=(y=sin(40))
0 1
Nos = 4=(y=—4sin(60)) .5=(y=—2005(zn .6=(y=500s(49)—5)
prsof ) aefomseos)
7= y=-3cos 5 8= y——2cos( no)- TH |
3 (Mj PRI | (ﬂ] MA
s y—2s1n Sy ) y=sin(x) — y——zcos 3 TH
0= 1 (x x MA MA
y:——cos(—j—3 y:2cos(—j — —
2 2 2 TH TH
¥
6
y
e -
e ~ e
///’HT7<<1\\ ///”\\ L]
P Pi~9] P Pi 3PV 2P 5P Pi 7P 4P

N N N N
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TrigonometryExercise for No.13033

4 2 X X
Nol = (tan(A) = 5), No2 = (cot(A) = gj, No3 = (cos(A) = ;], No4 = (csc(A) = 5]

A=(y=cos(0)) 2=(y=4sin(0)) J3=(y=sin(40))

Nos = 4=(y=06sin(40)) .5=(y:—§cos(26)j .6:(y=5cos(%j+2j
. 1 (n0 MA
_.7:(y:—5 sin(4mH)) .8:()/:—4 sm( p ]+3] TH |
2 sin(2 4 2 2 3 2 2 MA
g y==-2sin(2x)+ y—2cos( x)+3 y=2cos(2mx) TH
3. MA MA
y=—5s1n(2x) y=—cos(x)+2 E E
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TrigonometryExercise for No.13197

. 3 4 X 7
Nol = (sm(A) = Zj’ No2 = (cot(A) = gj, No3 = (cos(A) = ;J, No4 = (sec(A) = ;J

oz eest®) 2= (y=-6sin(0)) 3=(y=cos(40))
Nos = 4=(y=3sin(50)) .5=(y=§cos(3 e)j .6:();:_5 Cos(g)+4j
~ gin| 22 - MA
.7=(y=—551n(TD S=(y=—4sin(6706)+3) E

1 . 3 X . MA
y=—5s1n(2x) y=—500s— -2 y=sin(x)+1 ——

3 TH

No6 = [ mx 5 X MA MA
y=-2sin| —/—— |-3 y=Tcos| — —

2 2 2 TH TH
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w
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TrigonometryExercise for No.13907

3 7 . .
Nol = (C"S(A) - Ej’ No2 = (CSC(A) = ﬂ, No3 = (sin(A) - 7], Nod = (sec(A) _ g]
| I=(y=sin(0) 2=(y=-6co0s(0)) 3=(y=cos(20)) |
! 0
Nos | #=(r="3cos(50) ‘5:(y=‘§C°S(49)J .6:(y=—2 sin(;j‘Flj
o el s
= y= 3sm > S=(y=-5sin(6mwO)+1) p— _
1 (ﬂj 5 (1} 5 E(ﬂj , M4
Nog— J/—zcos ) y—2cos 3 + y——2s1n 5 — .
N B w
y=—cos(x) - y =7 sin(2x) p_ p—
y
——\/\ | i 4 B
S —P _‘B Q F'I 3PI| Pa __3- 5P|J’2¥', - Ilk%:)'
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TrigonometryExercise for No.13991

3 2 ) X X
Nol = (cos(A) = gj, No2 = (cot(A) = ;j, No3 = (sm(A) = Zj’ No4 = (CSC(A) = g}

d=(y=cos(0)) 2=(y=-65sin(0)) J=(y=sin(20))
0 1
No = 4=(y=2co0s(40)) .5:(y:4cos(;jj .6=(y:—zsin(3 6)—2)
oot sl
7= y= 6sm( n0)| .8§=|y=-3sin 5 TH |
1 (Tcx] 3 (x] 1 ,(nxj ; MA
= — - = — - = - |+ -
s y 2cos 5 y 2sm > y 2sm 5 TH
. S DU MA MA
y=cos(x)+ y——zcos( xX)— TH TH
¥
6
/4 Iy
™ L \_/\
gl ~ ] T
P Pif2 0 Pif2 Pi 3P|i!2/ Pi 5Pi/2 3Pi 7Pif2 4Pi
-1 . -
AT T ™ X B
=2 /
L i 17 ~ N
=3
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TrigonometryExercise for No.14005

5 7 3 X
Nol = (COS(A)— ]No2 (sec(A)— jNoS’ (tan(A)— jN04 (csc(A):gj

A =(y=sin(0)) 2=(y=3cos(0)) J=(y=sin(40))
Nos = 4=(y=-3co0s(20)) (y 6005( D .6=(yz—écos(59)—4}
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TrigonometryExercise for No.14157

Nol = (tan(A) = 2), No2 = (csc(A) = gj, No3 = (cos(A) = %J, No4 = (cot(A) = 3]

A =(y=sin(0)) 2=(y=-5co0s(0)) J=(y=sin(60)) ]

Nos = 4=(y=5co0s(60)) .5z(y=ésin(36)} .6:(y:55in[%j+lj
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